Year 3 Arithmetic Test 6 teStbase

700+ 1=

1 mark
222 -1=

1 mark
5Ex3=

1 mark
?x2=14

1 mark
905 - 100 =

1 mark
235+ 235 =

1 mark
1 3
— 4 — =

5
1 mark
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Year 3 Arithmetic Test 6 teStbase

56 +8+ 8=

1 mark
391 +10=

1 mark
678 + 25 =

1 mark
142 + ? =160

1 mark
429 - 31 =

1 mark
72 +8=

1 mark
48 -?=8

1 mark
53 x4 =

1 mark
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Year 3 Arithmetic Test 6 teStbase

?-23=35

1 mark
92 x5=

1 mark

725

- 536

1 mark
—of 24 =

1 mark
—of 16 =

1 mark
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Year 3 Arithmetic Test 6 teStbase

Mark scheme

L 701 " 1. 18 [1]
2. 221 1] 12. 398 [1]
s 15 " 13. 9 [1]
a7 " 4. 6 [1]
5 805 " 15. 212 [1]
6. 470 [1] 16. 58 (4]
. 17. 460 [1]

7. s [1]
18. 189 [1]

8. 72 [1]
19. 8 [1]

9. 401 [1]
20. 6 [1]

10. 703 [1]
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